Cl'&mi:s*!ﬁ'ﬁ (- Mclcu.‘w‘—u! (fKE\’/)

| |. ) M; 0.9% wol MgCo, . _ 'o) M: |¢ wol Co (o,q)

. .C,) M: ?-L(‘..Mol Nece . :.!4.&0 M’ | d) M 425'4 K\Ia.ido_;‘ Imi’ 12.5 A/I

Z.i00 L 2.0L J@S‘OJI

6) i?@ﬁ p‘j&} | wo
h43+3

"4‘1) 5.0 NaoH | 1o

— - 0.'2S'&w'.”aoﬂ- ‘ _
| [Ho.0, —_ (X :Lz.os M | |
a.,) nnol (0 50 MX!' 0 L.) = 0.50 mol ['L'Lioqlﬁ NaI m

N L) mol‘(30 M)('—{-OL) = i2 O wo | IH‘Z':} Na, Soy t 7« 10% 5 c\!%SO‘]

|

- 0095 mol At [
0-soo L '\ 0.23% MJ

\ ‘ c) ol s (;L 0o m)(o 0250 L) = 015 mol |331.24 Pbfusy),

. i (o] -'E&Oq PQ(NOS)L

atm 0.20Mm ) 0 el oy '
) ( o )(_@d';ot—) 05‘ . }Ln.l'j?‘kgpv m

. 0.26S wol NaOH. - 0365wl
,4003"1“0" P | M- 0.boo L _”lOéoaM

':“--l, M = O.=é§3 mol Bal, _ 1 8 Mo | ﬁ 30 x 10" M)(o OS'S'OL)
_ = 10.53) Ms —

| | 5 mol = (O-‘-FDO M)(O-O‘PZS L) :BOFFD wol C‘ez.VC,O3

L mol - .(g,loo m)(0250L) = 0-025 mol Aj“%
oo 0025 wol AgNOy| 1449, AN
- ! 31 Hs b sz Ayt

| ol

3. 12.5 4 daet
3 [ mol NaCO
}58":3““&  0.2133 wol Nacf

Vq 011‘5{‘4 :vwl ‘O |??) L‘ ) . __..'__.w_._,,*




